Just replace the OID in netapp.dta file ( 7 Mode devices ) or in netapp_cmode.dta file ( C Mode devices ) and restart the probe. Reopen the probe GUI and you will see the change. 
E.g. How to change Interface Operational Status OID in netapp.dta file :

a.      Here is the contents for Interface Operational Status from netapp.dta file ===

<Operational Status>
                                                                                unit = State
                                                                                CIType = 5.1.4.3
                                                                                CIMetric = 18
                                                                                desc = The current operational state of the interface. The testing(3) state indicates that no operational packets can be passed. Syntax  INTEGER {up(1), down(2), testing(3), unknown(4), dormant(5), notPresent(6), lowerLayerDown(7) }
                                                                                <NetApp>
                                                                                                type = 2
                                                                                                <oids>
                                                                                                                <1>
                                                                                                                                lookup_base_table_disc = .1.3.6.1.2.1.2.2.1.2
                                                                                                                                match_string = $instance
                                                                                                                                lookup_base_table_value = .1.3.6.1.2.1.2.2.1.2
                                                                                                                                oid = .1.3.6.1.2.1.2.2.1.8.X
                                                                                                                </1>
                                                                                                </oids>                                
                                                                                </NetApp>
                                                                </Operational Status>

OID getting used is .1.3.6.1.2.1.2.2.1.8.X.

b.      If customer is having other OID as .1.3.6.1.2.1.2.2.1.9 to get the operational status then just replace it and new contents will be :

<Operational Status>
                                                                                unit = State
                                                                                CIType = 5.1.4.3
                                                                                CIMetric = 18
                                                                                desc = The current operational state of the interface. The testing(3) state indicates that no operational packets can be passed. Syntax  INTEGER {up(1), down(2), testing(3), unknown(4), dormant(5), notPresent(6), lowerLayerDown(7) }
                                                                                <NetApp>
                                                                                                type = 2
                                                                                                <oids>
                                                                                                                <1>
                                                                                                                                lookup_base_table_disc = .1.3.6.1.2.1.2.2.1.2
                                                                                                                                match_string = $instance
                                                                                                                                lookup_base_table_value = .1.3.6.1.2.1.2.2.1.2
                                                                                                                                oid = .1.3.6.1.2.1.2.2.1.9.X
                                                                                                                </1>
                                                                                                </oids>                                
                                                                                </NetApp>
                                                                </Operational Status>

c.      Save the netapp.dta file and close it.
d.      Restart the probe and you will see the new OID in probe GUI.
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